1.9 Graphs of Sine and Cosine Functions Worksheet

Name \O’Y

Writing Equations of Sine and Cosine Functions

Examine the graph below and determine the amplitude, period, phase shift, and vertical shift of
each using COSINE as the parent function. Then write an equation of the function.
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Examine the graph below and determine the amplitude, period, phase shift, and vertical shift of
each using SINE as the parent function. Then write an equation of the function.
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Identify the amplitude, period, phase shift and vertical shift of the following trig functions.
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Given the following information about each trig function, write a possible equation for each.
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